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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
400 1" —@— setVI_ETcl : *********
—0— setVl _fgRec 1
200 | @ SetVIWN h . I
—8— slSetVI "-_ o008 o
- |
A ARPTAII . Tt WA
‘ I oS R 88 000 00de000000000009e000000$eel
/o0 e >/
100 -0/0-00-0.8.0-0-0- 54 8d " L M\ \ | .
Y 1
0B« (o8 Loe®® |\ V 'S :
- = 1
0 \." - a e = :
10 20 30 40 50 60 70




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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Trend plot forP3-10_0
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P3-10

BiE) | GEBRTK (F) | ERE(EA/AR) | EREREGB/R) (XS R
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09:00 278 150.0 2.888 RS FiHA@09:00 KREFEF (KREERHSE)
09:45 278 150.0 2.888 Bg| FiHHe09:45 REEF (KEERE)
10:25 278 150.0 2. 888 RS ThHA@10:25 KENFEF (CRAHEER)
11:00 278 150.0 2.888 BE| THA@11:00 KRENFEF (RAMERESE)
11:35 278 150.0 2.888 RS FiHRe11:35 REBFE (REAERSR)
12:10 278 150.0 2.888 RS FhHAe12:10 kENIEF CGRAFEER)
12:45 278 150.0 2. 888 RS FiHRe12:45 KREBF GREAERS)
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15:45 278 150.0 2.888 RS FHR@15:45 REIEF (REAEESE)
16:35 278 150.0 2. 888 RS ThHAe16:35 KEIEFE (KAFEER)
21t 4448.0 (16)%) 2400.0 323 KEC: 2080.0, PH: 6.0

FEIKRECE (1927.0 vs 3885.0) 15
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P3-10

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS ERE

07:00 283 150.0 2. 888 sl {Ri&e07:00 Bal (REEESE)
07:35 283 150.0 2.888 B 1Rige07:35 Bzh (REEESE)
08:10 283 150.0 2. 888 RS {Ri%e08:10 Bzl (REEREE)
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11:30 283 150.0 2.888 | 1Rige11:30 Bzh (GREEREE)
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12:35 283 150.0 2. 888 e Rige12:35 Bz (REAERSE)
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17:10 283 150.0 2. 888 el Rige17:10 Bzl (REAEESE)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEKECE (1877.0 vs 3532.0) 45



P3-10_0, Day=66 (2025-06—07)
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m=865,m FV0=0 m=895,m FV0=0
—o— M_E —o— ME
28. 50 ~ = 28.25 1 =
28. 25 A 2800 -
28. 00 27.75
27.75 27.50
27.50 27.25 7
27,95 - 217.00 1

865 870 875

895 900 905

m=505, FV0=0

26. 25 A

26. 00
25.75 A
25. 50 A
25. 25 A

25. 00

24.75 A

—o— M_E

5%0 5%5
m=675,n FV0=0

29.

28.

28.

21.

21.

—o— M_E

650 6é5
m=805,n FV0=0

29.

28.

28.

21.

—o— M_E

27.0

8%0 8%5
m=930,n FV0=0

805

28. 25 A

28. 00

27.75 A

27. 50 A

27.25 A

27.00 A

26.75

-o— M_E

i

930 935 940




m=965, FV0=0 m=1005, FV0=0
—o— wmEe | 2857 —o— ME
28.5 -
28.0 -
28.0 -
27.5 -
27.5
27.0 -
27.0 -
26.5 15 | . 26.51¢ ! .
965 970 975 1005 1010 1015
m=470,m FV0=0 m=505,m FV0=0
43 A
42 1 —o— MW —— MW
41 42 1
o
40 -
41 -
39 -
40 -
38 -
T T T 39 L T T T
470 475 480 505 510 515
m=645,m FV0=0 m=675,m FV0=0
43 - —— MW —o— MW
43 -
42 -
42 -
41 -
41 -
40 -
40 -
39 -
645 650 655 675 680 685
m=775,m FV0=0 m=805,m FV0=0
43 7 —— MW 43 —o— MW
42 -
42 -
41 -
41 -
40 -
40 -
39 -
. 39 1

775 780 785

805 810 815

T T T
600 800 1000

400

m=585,m FV0=0
40 - —— MW
39 -
38 -
37
36 -
35

585 590 595

m=705,m FV0=0
43 - —-&— MW
42
41
40 4 f

705 710 715
m=835,m FV0=0
—— MW

43
42
41
40 -

835 840 845

m=435, FV0=0
—0— MW
38
36
34
435 440 445
m=615,m FV0=0
42 . + M_W
41 ~
40 ~
39 4
38
615 620 625
m=740,m FV0=0
43 —— MW
42 -
41 ~
40 ~
39 L T T T
740 745 750
m=865,m FV0=0
—o— MW
43 -
42 -
41 ~
40 ~
865 870 875




m=895, FV0=0

441 —o— MW
43
42 1
41 1
40 -
895 900 905

m=930, FV0=0
—— MW

43
42
41
40 -

T T T

930 935 940

m=965, FV0=0 m=1005, FVO0=0
44 - —0— MW 44 - —— MW
43 - 43
42 42 -
41 41
40 L T T T 40 T T T
965 970 975 1005 1010 1015




hour

:00 -

105

145

:50

:50

:50

:50

:50

:00

100

80

- 60

- 40

§_



P3-10

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:30 283 150.0 2. 888 BE| {RRi%006:30 Bz (REEHSE)
07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
07:50 283 150.0 2.888 B 1Rige07:50 Bah (REEEER)
08:35 283 150.0 2. 888 RS {RRi%e08:35 Bz (REAEREE)
09:10 283 150.0 2.888 RS Ri%@09:10 Bzl (REERR)
09:45 283 150.0 2.888 RS {RRi&e09:45 B (REAEHE)
10:20 283 150.0 2.888 RS Ri%@10:20 Bz (REAERE)
10:50 283 150.0 2.888 S| Ri%@10:50 Bzl (REERR)
11:20 283 150.0 2.888 B Rige11:20 Bz (REAERSE)
11:50 283 150.0 2.888 S| Rige11:50 Bz (REAERE)
12:20 283 150.0 2. 888 B Rige12:20 Bz (REAERSE)
12:50 283 150.0 2.888 | 1Rige12:50 Bah (REERESE)
13:20 283 150.0 2.888 RSl Rige13:20 Bz (REAEHE)
13:50 283 150.0 2. 888 B Ri8e13:50 Bz (REAERSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Bz (REAERE)
15:25 283 150.0 2. 888 BE| Rige15:25 Bz (REAERSE)
16:00 283 150.0 2.888 S| Ri%e16:00 Bzl (REERESR)
16:40 283 150.0 2.888 S| Rige16:40 BHal (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEHECE (1820.0 vs 3380.0) 15

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=65 (2025-06-06)

150 Fm—————F——————F——————F——————F——————F——————F——————F——————f-—————F— - =]
VI, V0, FRV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET
7996 3000 =
100 A 2208 2300 .
1800 = =
530 2000\5/
50 =
L 1000 &
00 Warning: lcol [FVI',| "FVO’'] missing 80
0 + -0
(v - — ME #30
200 A
100 +
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. ) 4000
Bylnit :@D67 01:56: ET=2051 Fg=2550.0 Ro=493.0 o
400 - : - 3000 &
| ® N
: ® L 2000 E
200 - | —
L
' L 1000 E
| o
0 R—2 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
i |Z=| BB | W 5 | i | Big | g | g | BB i 5 5 | B i 5 5 5 i 5 5 5 i 5 )
400 - S W— — — L 3000 ©
ByEt @D65 19:05: ET=2424 Fg=2763. 0 Ro=nan =
2
L 2000 E
200 1 _
L
L 1000
[&]
01 0 1 2 ’ 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9
- 4000
BB |Z=z| B | B | B | BB | B |B|B| B 5 5 5 i 5 5 5 REAREEAEEEEAES )
_ 1 i c
*991 ByMWoFv 10067 01:56: ET=2485 Fg=2850.0 Ro=581.0 3000 &
2
I —_—
1 - 2000 E
200 : —
L
' L 1000 E
| o
1_0-!EEZE’EE=;JI—~71! 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl B |Z=| B |5 | M [BF |5 [ M [ BE | A5 i 5 | B | B | B 5 5 5 REREEREARAEFA R
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 - [ ] | _obs
—@— PPFD obs
1000 +
500 -

RH

RH_obs
RHo_obs




25.

24.

24,

23.

23.

26.

26.

26.

26.

26.

25.

28.

27.

27.

26.

m=420, FV0=0

1.0
291 —e— ME
28 0.8 1
27 4
0.6
26
0.4 A
25 -
24 4 0.2+
Warning: col ['M_E'] missing
23
T T T T T 0 0 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1
m=625,m FV0=0 m=635, FV0=0
0 26.0 -
—o— ME —o— ME
25.5 A
5 -
25.0
0 -
24.5
37 24.0
0 - 23.5 A
T T T T T T
625 630 635 635 640 645
m=720,m FV0=0 m=750,m FV0=0
gl ~® ME 27.5 - —o— ME
6 -
27.0 -
4 -
27 26.5
0 .
g 26.0 1
720 725 730 750 755 760
m=840,m FV0=0 m=870,m FV0=0
—o— ME —o— ME
28.5
0 -
28.0 A
5 -
27.5 1
0 -
27.0 A
5 -
840 845 850 870 875 880

24.

23.

23.

22,

22.

26.

26.

25.

25.

25.

27.

27.

26.

26.

29.

28.

28.

27.

27.

m=550, FV0=0
04 —o— ME
5 -
0 | o-0-0-0-0-0-0-0-0-0-0-0-0-0-0
5 -
0 -
550 555 560
m=660,m FV0=0
—e— ME
2 -
0 -
8 -
6 -
4 -
660 665 670
m=780,m FV0=0
5] —@— ME
0 -
5 -
0 -
780 785 790
m=900,m FV0=0
0
—e— ME
5 -
0 -
5 -
0 -

900 905 910

24

23

23

22

22

26.

26.

26.

26.

25.

25.

25.

28.

21.

27.

26.

29.

28.

28.

27.

27.

m=595, FV0=0

.04

.5 A

.04

.9 A

.01

§ t

660 665
m=690,n FV0=0

75 1

50 -

25

00 -

75 -

50

25 -

695 700
m=810,n FV0=0

690

—o— ME

ity

8%5 8é0
m=930,n FV0=0

810

—o— M_E

7

930 935 940




29.

28.

28.

27.

27.

m=960, FV0=0

—o—

T
960

9é5 9;0
m=420,n FV0=0

Warning: col "MW 1] missing

m=635, FV0=0

T T
0.2 0.4 0.6 0.8

—_

33 A

32 -

31

30 -

29 -

28 -

—— MW

635

6&0 6&5
m=750,n FV0=0

37 A

36

35 A

34 -

33 A

32 -

-— MW

750

755 760

29.

28.

28.

27.

25.

25.

25.

25.

m=990, FVO0=0
01 —o— ME
5 -
0 -
5 -
990 995 1000
m=550,m FV0=0

—— MW

=
ni

550 5%5 5é0
m=660,n FV0=0

24 —— MW

32 -

30

28

=

660 Gé5 6%0
m=780,n FV0=0

38 -— MW

37 A

36

35 A

34

33 -

780 785 790

28.

28.

27.

23.

23.

23.

23.

23.

m=1020, FVO0=0
5 -
0 -
5 -
1 0'20 1 0'25 1 0'30
m=595,m FV0=0
97 —— MW
8 -
7 -
6 -
5 -
595 600 605
m=690,m FV0=0
35
34
33 1
32
31
30 1
29
690 695 700
m=810,m FV0=0
397 —— MW
38
37
36 -
35 -
34

810 815 820

660 760 860 960 10b0
m=625,n FV0=0

32 -

30 -

28 -

26 -

24 -

—— MW

37

T T
625 630 635

m=720,m FV0=0

36

35

34 -

33 A

32 -

31 -

—o— MW

720 725 730

m=840,m FV0=0

39 A

38

37 A

36

35 -

- MW

7

840 845 850




m=870, FV0=0

40 -

39 A

38

37 A

36

—— MW

T
870

8%5 8é0
m=990,n FV0=0

42 -

41 -

40 -

39 A

—— MW

T
990

T T
995 1000

m=900, FV0=0

41 A

40 ~

39 A

38 -

37 A

—— MW

T
900

965 9%0
m=1020m FV0=0

43

42

41

40 -

—o— MW

T
1020

T T
1025 1030

m=930, FV0=0
—— MW

41
40 -
39
38

T T T

930 935 940

m=960, FV0=0
42 A
—— MW
41
40 -
39 A
960 965 970
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P3-10

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:30 283 150.0 2. 888 RS {RRi%e06:30 Bz (REEREE)
07:25 283 150.0 2.888 A5 {Ri%e07:25 B (REERESR)
08:40 283 150.0 2.888 [Z=| 1Ri&e08:40 Bzh (FEEEEE)
09:30 283 150.0 2.888 FH| 1BRi%@09:30 Bzh (kAMEEEE)
10:10 283 150.0 2.888 FH| 1Bi&@10:10 B3h (RAMERES)
10:50 283 150.0 2.888 FA| {Ri&@10:50 Bzl (GkAEEE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bzl (RAERSE)
12:20 283 150.0 2. 888 FH| 1Ri%e12:20 B3 (kABERSE)
13:10 283 150.0 2.888 [Z=| 1®Rige13:10 Bzh (REEESER)
13:55 283 150.0 2.888 |Z=| {Ri%e13:55 Bz (REAEHE)
14:35 283 150.0 2.888 |Z=| {Ri&e14:35 Bz (REAEHE)
16:00 283 150.0 2.888 |Z=| {Ri&e16:00 Bz (KEAEHSE)
17:10 283 150.0 2.888 |Z=| {Rige17:10 Bz (REAEHE)
249t 3679.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 5.8

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE147.0 ml.

HEEKECE (1773.0 vs 3283.0) 15

147.0), AlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=64 (2025-06-05)

T e g g S S S B S

vl v #BRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET
2800 - 3000

100 A 2208
790 1800 7 é1 d 2000

50

T
—_
o
o
o

780

Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -

150 - - 28

100 - - 26 =

50 - 24

22

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @67 01:56: ET=1633 Fg=1950.0 Ro=431.0

300 -
- 2000

200 -

- 1000
100 A

e
o

= = L

0 | 1 | 2 [ 3] 4[5 [6 7 [ 8] 9 Jio[ 1T [12[138[14]15]16] 17 ] 18] 19 [ 20 [ 21 | 22 | 23

500 BB | s | B (%= | BB [ ks | BB [R5 | P [ BA | FH [ BA | BA [ BA | BA | BA | BA [ BA | BA | B8 | BA | BH | BA | A
7] I

ByEt @64 19:30: ET=1698 Fg=1800. 0 Ro=nan I ® o—=9 - 2000

200 -

- 1000
100 A

0 [ 1 2 [ 3] 4[5 [ 6 78 9o Jiwo[n[12]T18[14]15]16]17] 18] 192072122723
E [ B | B (2= (B | BB | B | B 2= H [ | B | H |IZE|Z[(ZE|(ZE|Z(H | B | B [ZE|2x] B

i
ByWoFy 1@D67 01:56: ET=1610 Fg=1950.0 Ro=382.0

300 -
- 2000

200 -

- 1000
100 A

N (I NN
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0

BB | B | B || B | B[ |[RB[Z=]| B | B | B | MW I|ZE|EE|(55 (55 (%55 A | B | B |$Z=x|%=]| W

0.8

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

3 4 . ; o v f
A’

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=485, FV0=0 m=530, FV0=0

25. 25 -
- ME 26. 50 - - ME - ME
25. 00 - 27.5 -
24. 75 - 26. 25 1
24. 50 26. 00 27.0 1
24. 25 - 95. 75 -
24. 00 - 26.51
' 25. 50
23.75 -
T T T T T T T 25 25 - T T T T T T
400 600 800 1000 420 425 430 485 490 495 550 555 560
m=595,m FV0=0 m=630,m FV0=0 m=660,m FV0=0 m=705,m FV0=0
28.5
—— ME | 590l —— ME | 59 o0 - ME - ME
28.5 -
28. 75 -
28.0 -
28.5 -
28. 50 - 28.0 -
27.5 - 28. 25 -
28.0 -
28. 00 21.5 1
27.0 - i
27 5 27.75
T T T T T T T T T T T T
595 600 605 630 635 640 660 665 670 705 710 715
m=760,m FV0=0 m=810,m FV0=0 m=855,m FV0=0 m=900,m FV0=0
28. 75 -
& ME 28.5 - —&— ME | 55 50 —o— ME —— ME
28.50 -
28. 0 - 28. 25
28. 25 -
28. 00
27.5 - 27.75 -
- 27.75 -
' 27.50 -
27.50 -
927.0 - 97. 25 -
970 27. 25 -
760 765 770 810 815 820 855 860 865 900 905 910
m=965,m FV0=0 m m=420,m FV0=0 m=485,m FV0=0
—o— ME 46 441 _e— M_W 46 —— MW
28. 25 -
28.00 - 441 47 45 -
27.75 492
44
27.50 40 7
40
27.25 43 1
38 —.— 38 1
27.00 - MW w2
965 970 975 400 600 800 1000 420 425 430 485 490 495



m=530, FV0=0

—— MW
45 -
44
43
42
41 L T T T
550 555 560
m=705,m FV0=0
—— MW
45
44
43
42
T T T
705 710 715
m=900,m FV0=0
—— MW
45
44 -
43
42 -
900 905 910

m=595, FV0=0
—— MW
45
44 -
43
42
41
T T T
595 600 605
m=760,m FV0=0
—— MW
44 -
43
42
41
40 -
T T T
760 765 770
m=965,m FV0=0
—— MW
45 -
44
43
965 970 975

m=630, FV0=0

45 -

44 -

43 -

42

41 -

—— MW

630

6é5 6&0
m=810,m FV0=0

45 A

44 -

43 A

42

41 -

—— MW

810

815 820

m=660, FVO0=0

46 -

45 -

44

43

42 -

—— MW

660

6é5 6;0
m=855,n FV0=0

44

43

42

41

—o— MW

855

860 865
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P3-10

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS R

07:10 288 150.0 2.888 BE| {Ri&e07:10 Bzl (REAEEE)
07:50 288 150.0 2. 888 RS {Ri8e07:50 Bz (REERSE)
08:50 288 150.0 2.888 BE| 1Ri%e08:50 Bz (RF{EEEE)
09:40 288 150.0 2.888 RS {Ri%009:40 Bl (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Bz (REAERSE)
11:00 288 150.0 2.888 el Rige11:00 Ba) (REEESE)
11:40 288 150.0 2.888 el Rige11:40 Bz (REAERSE)
12:20 288 150.0 2.888 B Rige12:20 Bz (REAERE)
13:05 288 150.0 2. 888 S| Ri%e13:05 B (GRF{EEEE)
13:50 288 150.0 2.888 B Ri&e@13:50 Hah (REAERSE)
14:30 288 150.0 2.888 BS| 1Ri%e14:30 B3 (GREMEESE)
15:10 288 150.0 2.888 S| Ri%e15:10 B3 (REAERER)
15:50 288 150.0 2.888 BE| 1Ri%e15:50 B (GRE{EEEE)
16:40 288 150.0 2.888 BS| 1Ri%e16:40 Bz (GGREMEESE)
21t 4032.0 (14)%) 2100.0 32#KEC: 2080.0, PH: 5.7

FERRNEREEFEBART (187.0 : 144.0), AgEHF—RE XAHS
ZRIAEBRIERE144.0 ml.



P3-10_0, Day=63 (2025-06-04)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——— o _—]
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 3179
2800 - 3000
100 2218 448
1700 654" 2000
345
50 1 780 L 1000
40 Warning: lcol [FVI',| "FVO’'] missing
0 -0
Azoo—( Vi —— ME (300
T FRV maxM
+5150_ ___________________________ I N GEGE . EED S I I ESN EEeR Sun SN Sn S S S PSS S S — - 27.5
< |
< 100 | I — S — -25.0
s sl AEUERIIARUAREEN s
1.0 20.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 ¢
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
~ 300 A Bylnit:@D67 01:56: ET=1570 Fg=1950.0 Ro=378.0 ?3000
= I
= :
X 200 - i - 2000
< 1
= 1
~ 100 A : - 1000
o |
—e—PhH—o—o
o S—— ——— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
S B B BB B B BB BB B BB %% % BB %% %1% 1%TL%]sm
= 1
(—:_ ByEt @D63 19:05: ET=1867 Fg=2499. 0 Ro=nan .I
EZOO_ 1 - 2000
>
E
100 - 1000
o
0 a—  am—a— 2——:/ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
AL A A AL A A AR A A AR A AR A A AR A AR A AL AR AL AN A A P
= |
(—:_ ByWoFv :@D67 01:56: ET=1659 Fg=2100.0 Ro=437.0
T 2001 I 8 - 2000
< I /‘/
—= 1
£
. ! i il - 1000
\—_
1.0 '_! ! 2 —ﬁ‘ 2——:/ I — E— 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE ES == E3 ES ES == E3 ES ES
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